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Ring to show b groupe of 3. (1 mark)
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Look at the pictures to answer Questions totod

h  in the blanks with the correct answers 3 x 1 rmark)
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27) Matreh Yhe correct pairs,
There are oniv 3 correct bairs, (1 x 2 marks)

....... 4 ¢

’ R
! 1
P LN« e b
IS S e S I f

{ - -
L - !
— # 2 x B ;
; ) ‘ '
[ JEN T p P i :
= feng »ongg e
j. e §
{
« Yy {
—— — ) 7 4
1 y 3
i ! .
A SO SRS U S
- ' RPN
[
N -~ ‘X/ :_g ;
e e bt — * o X3 :
t P i, !
[ T T i-\
i . 'Q'J:_f\ Up NERE e
H ~ N . !
L
Sodegg. . B
] JOTWGE |

Then complete the multiplicat

\_A ; 1/ \
/ ) gj \ /
-' Lo Lo ﬁ
{ P f |
$ ! ! ! §
i £ / \ |
} ‘._‘ 3 . ',’
‘\ / A ! \\ ' fl
\\ J,"/ ,‘f 3 /
;
\ , / *
N v ,
e \\w) - - M_Mw_’_,"

A

! )
i

| i -

A v | !

{ 3 b4 1 ‘J = | i
Lo S o

33
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Section €

Read the CTory sums carefuily. Write down the number sentences and
answers, {4 x 3 marks)
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37) Jane has 35 dolis. She nas 9 more dolls than Nicele, How many

dolls does Nicele have?
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